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$едVD Л4пV9, 
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Чле= Є6Dопе9Eько7о &о64D8Eт64 7 �8тOG8E І=DекFV9=8E %6оDо5 (ESPID)

�оло64 пD46лV==O «�4тьк8 74 64кF8=4FVN»
Ко=Eульт4=т 7 64кF8=4FVW пDот8 COVID-19 у пDоTкт4E !6Vто6о7о 54=ку

�е <4N 6Vдпо6Vд=8E DV=4=Eо68E EтоEу=кV6 длO 
Dо7кD8ттO.
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74по5V7т8 GеDе7 64кF8=4FVN



З4E6оDN64=VEть =4 V=DекFVW, Oк8< <о6=4 
74по5V7т8 GеDе7 64кF8=4FVN







• �&��І 74у646уT, Iо 7оло6=оN <етоN 64кF8=4FVW т4 66еде==O 5уEтеD=8E до7 
64кF8=8 пDот8 COVID-19 74л8H4TтьEO попеDед6е==O тO6к8E 68п4дкV6 
COVID-19, оEо5л86о EеDед 687=4Gе=8E 7Dуп D878ку, 74E8Eт E8Eте<8 оEоDо=8 
7доDо6’O. &о<у �&��І =47олоHуT =4 646л86оEтV 64кF8=4FVW D4=VHе =е 
64кF8=о64=8E оEV5, OкV =4ле64ть до 7Dуп8 D878ку тO6ко7о пеDе5V7у COVID-
19. 

• �еD68==4 64кF8=4FVO пDот8 COVID-19 - куDE Iепле==O, Iо пеDед54G4T 
отD8<4==O од=VTW до78 64кF8=8 пDот8 COVID-19 длO 64кF8= =4 6ектоD=V9 G8 
< �К пл4тDоD<V, д6оE до7 - пD8 68коD8Eт4==V 64кF8= =4 пл4тDоD<V 
V=4кт86о64=о7о 6VDуEу (74 7о<о/7етеDоло7VG=оN EEе<оN). �од4тко64 до74 
64кF8=8 пDот8 COVID-19, Iо Dеко<е=до64=4 длO окDе<8E 7Dуп оEV5, 
74D4Eо6уTтьEO до пеD68==оW 64кF8=4FVW. 
• �лO пеD68==оW 64кF8=4FVW т4 Dе64кF8=4FVW (5уEтеD=8E до7) <о6е 5ут8 
68коD8Eт4=4 5удь-Oк4 7 доEтуп=8E 64кF8= пDот8 COVID-19. �D8 =4O6=оEтV 
685оDу 64кF8=8, пеDе647у =4д464т8 64кF8=V, Iо 4д4пто64=4 пVд 64DV4=т 
Omicron 7 пDVоD8те74FVTN оEV5, OкV =4ле64ть до 7Dуп8 68Eоко7о пDVоD8тету.
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�Vд7Dуп8 =4Eеле==O, <4Nть пе6=V пеDеду<о68 до пDо6еде==N 64кF8=4FVW
&Vльо64 7Dуп4 
=4Eеле==O

�4кF8=4FVO =еIепле=8E пDот8 
COVID-19 оEV5
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COVID-19
ОEо58 7 по<VD=8<8 
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V<у=одеDVF8т=8<8
Eт4=4<8  (доDоEлV V 
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<VE.)

�6еде==O од=VTW 45о д6оE до7
64кF8=8, Iо пеDед54Gе=о
V=EтDукFVTN 64кF8=8 до
68коD8Eт4==O длO пеD68==оW
64кF8=4FVW, 7 66еде==O< дод4тко6оW
до78 64кF8=8

ЧеDе7 6-12 <VE. пVEлO 66еде==O попеDед=ьоW
до78; опт8<4ль=89 V=теD64л 74ле68ть 6Vд поD8
Dоку - 66еде==O 5уEтеD=оW до78 опт8<4ль=о
7дV9E=8т8 пеDед поG4тко< Eе7о=у 7DоEт4==O
74E6оDN64=оEтV =4 COVID-19.

�47Vт=V Од=оD47о64 64кF8=4FVO пDотO7о< ко6=оW 647Vт=оEтV =е74ле6=о 6Vд попеDед=ьоN
VEтоDVW 64кF8=4FVW; опт8<4ль=о 64кF8=4FVN 64Dто пDо6еEт8 6 дDу7о<у тD8<еEтDV
647Vт=оEтV, V=4кHе 64кF8=4FVO <о6е 5ут8 пDо6еде=4 6 5удь-Oко<у тD8<еEтDV 647Vт=оEтV
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Од=оD47о64 64кF8=4FVO ЧеDе7 12 <VE. пVEлO 66еде==O попеDед=ьоW
до78, 4ле <о6е 5ут8 66еде=4 D4=VHе 74
5464==O< оEо58 пD8 6VдEут=оEтV деDVF8ту
64кF8=8 длO Iепле==O V=H8E оEV5 6Vко< по=4д
75 DокV6, 647Vт=8E, оEV5 7 тO6коN
V<у=оEупDеEVTN ; V=теD64л до 66еде==O
5уEтеD=оW до78 <4T Eкл4д4т8 Iо=49<е=Hе 6

<VEOFV6 6Vд 66еде==O попеDед=ьо до78 64кF8=8





Ч8 5уде =4O6=4 64кF8=4 еDект86=оN пDот8 
COVID-19, Iо 7у<о6ле=89 =о68<8 64DV4=т4<8 
SARS-CoV2?
• �4 д4=89 <о<е=т 5VльHVEть V=DекFV9 EпD8G8=е=V 64DV4=т4<8 KP, 
OкV =47864NтьEO FLiRT, V V=H8< 64DV4=то<, LB.1. О58д64 64DV4=т8 T 
=4I4дк4<8 64DV4=ту JN.1.

• �о6V 64DV4=т8 =е <4Nть 6од=о7о 7=4G=о7о е6олNFV9=о7о EтD85к4.

• О=о6ле=V 64кF8=8 (О<VкDо=-EпеF8DVG=V) T еDект86=8<8 пDот8 
COVID-19, Iо 7у<о6ле=V =495VльH поH8Dе=8<8 64DV4=т4<8 SARS-
CoV2, оEкVльк8 6о=8 тVE=о по6’O74=V.



https://covid19-vaccines-efficacy.ecdc.europa.eu/#54_Vaccine_effectiveness_against_SARS-CoV-2_severe_disease_infection_with_the_Omicron_variant

Efficacy, effectiveness 

and safety of 

EU/EEA-authorised
vaccines against 

COVID-19: living 

systematic review
Week 10, 2023. 

Produced on 13 

March 2023 at 10.15.



$878к 68=8к=е==O <Vок4Dд8ту 6Vд V=DекFVW 5у6 
5VльH =V6 у 7 D47V6 68I89, =V6 64кF8=4FVO.

https://doi.org/10.3389/fcvm.2022.951314

https://doi.org/10.3389/fcvm.2022.951314




1. �4д4==O Dеко<е=д4FVW длO пVд7ото6к8 пDо6еде==O 
дод4тко68E 74EодV6 7 V<у=V74FVW =4Eеле==O пDот8 
к4HлNку, д8DтеDVW т4 пD46FO (д4лV – ��І) у 2024 DоFV у 
68п4дку 6VдEут=оEтV доку<е=тV6 пVдт6еDд6уNG8E 
64кF8=4ль=89 Eт4туE. 

2. �8коD8Eт4==O 64кF8= 7 к4HлNко68< ко<по=е=то< длO 
пDо6еде==O Iепле=ь дVтO< 7 поDуHе==O< к4ле=д4DO до 
6 DокV6 11 <VEOFV6 29 д=V6.

3. !Eе<8 пDо6еде==O Iепле=ь дVтO< 7 поDуHе==O<
к4ле=д4DO до 6 DокV6 11 <VEOFV6 29 д=V6 (687=4Gе==O
отD8<4==O 4 G8 5 до7 6 D4<к4E ��І 7 уD4Eу64==O<
IеплN64ль=о7о 4=4<=е7у). 



1.Н4д4==O Dеко<е=д4FVW длO пVд7ото6к8 пDо6еде==O дод4тко68E 
74EодV6 7 V<у=V74FVW =4Eеле==O пDот8 к4HлNку, д8DтеDVW т4 пD46FO 
(д4лV – ДЗІ) у 2024 DоFV у 68п4дку 6VдEут=оEтV доку<е=тV6 
пVдт6еDд6уNG8E 64кF8=4ль=89 Eт4туE.

• ' 68п4дку 6VдEут=оEтV 74п8EV6, Iо пVдт6еDд6уNть D4=VHе 
отD8<4=у 64кF8=4FVN пDот8 пD46FO, д8DтеDVW, к4HлNк4, �&��І 
Dеко<е=дуT 74EтоEо6у64т8 од8= 7 =4Eтуп=8E пVдEодV6:
• �Dо6еEт8 64кF8=4FVN пDот8 6Vдпо6Vд=8E V=DекFV9 74 7D4DVко<, Oк89 
6Vдпо6Vд4T 6Vку (пD86одOтьEO Dеко<е=д4FVW).

• ' D47V =4O6=оEтV у оEо58 Dе7ульт4тV6 л45оD4тоD=8E 
доEлVд6е=ь DV6=O 4=т8тVл до д8DтеDV9=о7о т4/G8 пD46Fе6о7о 
токE8=V6/4=4токE8=V6 67Oт8 WE до у6478 7 =4Eтуп=8< 
тD4кту64==O<.



У 68п4дку 6VдEут=оEтV 74п8EV6&
• �Dо6еEт8 64кF8=4FVN пDот8 6Vдпо6Vд=8E V=DекFV9 74 7D4DVко<, Oк89 
6Vдпо6Vд4T 6Vку
• доDоEл8< пDо6еEт8 Iепле==O 7 отD8<4==O< EеDVW 7 тDьоE до7 64кF8=8, Iо <VEт8ть 
пD46Fе689 т4 д8DтеDV9=89 4=4токE8=8, 7 дотD8<4==O< V=теD64лу <V6 пеDHоN т4 
дDу7оN до74<8 - Iо=49<е=Hе 28 д=V6, <V6 дDу7оN т4 тDетьоN до74<8 - Iо=49<е=Hе 
6 <VEOFV6; Iепле==O <о6е 5ут8 пDо6еде=е V7 74EтоEу64==O< 64кF8=8 7 4FелNлOD=8<
к4HлNко68< ко<по=е=то< у 6Vдпо6Vд=оEтV до 74т6еDд6е=оW V=EтDукFVW 7 <ед8G=о7о 
74EтоEу64==O;

• дVтO< Eт4DH8< 74 од8= DVк т4 <олодH8< 74 7 DокV6, OкV =е отD8<4л8 6од=о7о 
Iепле==O длO пDоDVл4кт8к8 6к474=8E V=DекFV9 - пDо6еEт8 Iепле==O 7 отD8<4==O< 
EеDVW 7 тDьоE до7 64кF8=8, Iо <VEт8ть пD46Fе689 т4 д8DтеDV9=89 4=4токE8=8, 
к4HлNко689 ко<по=е=т (7 FVль=оклVт8==8< G8 4FелNлOD=8< ко<по=е=то<); 7 
дотD8<4==O< V=теD64лу <V6 пеDHоN т4 дDу7оN до74<8 - Iо=49<е=Hе 28 д=V6, <V6 
дDу7оN т4 тDетьоN до74<8 - Iо=49<е=Hе 6 <VEOFV6;

• дVтO< 6Vко< 6Vд 7 DокV6 до 17 DокV6 11 <VE 29 д=V6, OкV =е отD8<4л8 6од=о7о Iепле==O 
длO пDоDVл4кт8к8 6к474=8E V=DекFV9, пDо6еEт8 Iепле==O 7 отD8<4==O< EеDVW 7 тDьоE 
до7 64кF8=8, Iо <VEт8ть пD46Fе689 т4 д8DтеDV9=89 4=4токE8=8; 7 дотD8<4==O< 
V=теD64лу <V6 пеDHоN т4 дDу7оN до74<8 - Iо=49<е=Hе 28 д=V6, <V6 дDу7оN т4 
тDетьоN до74<8 - Iо=49<е=Hе 6 <VEOFV6.



У D47V =4д4==O Dе7ульт4тV6 л45оD4тоD=о7о 
о5Eте6е==O =4 =4O6=VEть 4=т8токE8G=8E
4=т8тVл до д8DтеDV9=о7о т4/G8 пD46Fе6о7о
токE8=V6/4=4токE8=V6 67Oт8 WE до у6478 7 
=4Eтуп=8< тD4кту64==O<.



%6оDо54  V6е=ь 4=т8тVл &D4кту64==O �VO
�8DтеDVO <0,01 �О/<л V<у=Vтет 6VдEут=V9 пDо6еEт8 Iепле==O EеDVTN

7тDьоE до7
0,01–0,099 �О/<л G4Eтко689 74E8Eт пDо6еEт8 Dе64кF8=4FVN

>0.1 �О/<л по6=89 74E8Eт Dе64кF8=4FVO 74 6Vко<
�D46еFь <0,1 �О/<л V<у=Vтет 6VдEут=V9 пDо6еEт8 Iепле==O EеDVTN

7тDьоE до7
0,11 - 0,5 �О/<л G4Eтко689 74E8Eт пDо6еEт8 Dе64кF8=4FVN

0,51 - <1,0 �О/<л по6=оFV==89
74E8Eт

Dе64кF8=4FVO 74 6Vко<

⩾1,0 �О/<л тD864л89 74E8Eт Dе64кF8=4FVO 74 6Vко<



•!еDоло7VG=е доEлVд6е==O =е EлVд Dут8==о 
пD87=4G4т8 длO пVдт6еDд6е==O =4O6=оEтV
V<у=Vтету, оEкVльк8 74EтоEу64==O ко<еDFV9=о
доEтуп=8E теEт-E8Eте< =е 7466д8 <о6е
=4д4т8 пD46д8689 Dе7ульт4т, 5ут8 доEт4т=ьо
Gутл868< 45о Eт4=д4Dт87о64=8< длO 
68O6ле==O V=дуко64=о7о 64кF8=оN V<у=Vтету, 4 
л45оD4тоD=V теEт8, OкV 68коD8Eто6уNть 6 
доEлVд=8Fьк8E л45оD4тоDVOE, <о6уть 5ут8 
=едоEтуп=8<8.



Н4Eтуп=V Iепле==O (Dе64кF8=4FVO) 6 
доDоEло<у 6VFV 

• &пDо6од8т8 6Vдпо6Vд=о до 6Vку (=4пD8кл4д, 26 DокV6, 36 
DокV6, 46 DокV6&), Iо T 646л868< 7 о7лOду =4 оD74=V74FV9=V 
4Eпект8 6 пл4=у64==V 64кF8=4FVW, 4ле =е D4=VHе =V6 <8=е 5 
DокV6 6Vд оEт4==ьоW Dе64кF8=4FVW пDот8 д8DтеDVW т4 пD46FO. 
• ' 68п4дку =4Eт4==O 6Vку, 6 Oко<у пеDед54Gе=4 Dе64кF8=4FVO 
74 6Vко<, т4 кол8 =е Eпл86 5 DVG=89 V=теD64л, =4Eтуп=4 
пл4=о64 Dе64кF8=4FVO 7Eу64TтьEO =4 6Vдпо6Vд=у кVлькVEть 
DокV6 6Vд 64кF8=4FVW 74 6Vко< до 74кV=Gе==O д4=о7о V=теD64лу. 
• �4Eтуп=4 пVEлO Fьо7о Dе64кF8=4FVO пDо6од8тьEO 74 6Vко<, Iо 
пеDед54Gе=89 К4ле=д4Dе< Iепле=ь.



•�лO Dе64кF8=4FVW пDот8 д8DтеDVW т4 пD46FO <о6е 5ут8 
68коD8Eт4=4 5удь-Oк4 64кF8=4, Iо <VEт8ть 6Vдпо6Vд=V 
4=4токE8=8, т4 до76оле=4 до 68коD8Eт4==O у д4=о<у 
6VFV.
•�&��І =47олоHуT, Iо 647Vт=VEть =е T пDот8пок474==O< 
до пDо6еде==O Oк пл4=о6оW 74 6Vко< Dе64кF8=4FVW, т4к V 
=47до74=ONGоW 64кF8=4FVW/Dе64кF8=4FVW. 
• ' д4=о<у 68п4дку пеDе647у 64Dто =4д464т8 ко<5V=о64=V9 
64кF8=V пDот8 д8DтеDVW, пD46FO 7 4FелNлOD=8<
коклNH=8< ко<по=е=то<.
• &4к89 пVдEVд <4T =4 <етV 74E8Eт =е л8Hе 647Vт=оW, 4ле 
74E8Eт 6Vд пD46FO =о6о=4Dод6е=о7о т4 к4HлNку 
=е<о6лOт8.



3.%Eе<8 пDо6еде==O Iепле=ь дVтO< 7 поDуHе==O< 
к4ле=д4DO до 6 DокV6 11 <VEOFV6 29 д=V6 (687=4Gе==O 
отD8<4==O 4 G8 5 до7 6 D4<к4E ДЗІ 7 уD4Eу64==O< 
IеплN64ль=о7о 4=4<=е7у).

• ' 68п4дку, OкIо д8т8=4 =е отD8<4л4 6од=о7о Iепле==O длO 
пDоDVл4кт8к8 к4HлNк4/д8DтеDVW/пD46FO, то Iепле==O пVEлO 
68ко=4==O д8т8=V 1 Dоку 68ттO V до доEO7=е==O 6Vку 6 DокV6 11 
<VEOFV6 29 д=V6, пDо6од8тьEO 74 EEе<оN, Iо пеDед54G4T 66еде==O 
тDьоE до7. &е од=4ко6о EтоEуTтьEO 64кF8= Oк 7 FVль=оклVт8==8<, 
т4к V 7 4FелNлOD=8< к4HлNко68< ко<по=е=то<.
• І=теD64л <V6 66еде==O< пеDHоW т4 дDу7оW до78 64кF8=8 <4T 
Eкл4д4т8 Iо=49<е=Hе 28 д=V6, <V6 дDу7оN т4 тDетьоN -
Iо=49<е=Hе 6 <VEOFV6.



• ЯкIо тDетO до74 5ул4 66еде=4 5VльH Oк 74 од8= DVк до 
68по6=е==O 6 DокV6, то длO Dе64кF8=4FVO 6 6 DокV6 
пDо6од8тьEO д8DтеDV9=о-пD46Fе68< 4=4токE8=о<. 

•  47о< 7 т8<, длO Dе64кF8=4FVW <о6е 5ут8 68коD8Eт4=4 5удь-Oк4 
64кF8=4, Iо <VEт8ть д8DтеDV9=89 т4 пD46Fе689 4=4токE8=8, 
до76оле=4 до 74EтоEу64==O у д4=о<у 6VFV (6 то<у G8EлV V 7 
к4HлNко68< ко<по=е=то<).

• ЯкIо тDетO до74 5ул4 66еде=4 74 <е=H Oк од8= DVк до 6Vку 
6 DокV6 (пVEлO доEO7=е==O 6Vку 5 DокV6), д4=4 до74 <о6е 
5ут8 74D4Eо64=4 Oк Dе64кF8=4FVO 74 6Vко<.



• ЯкIо д8т8=4 7 поDуHе==O< к4ле=д4DO Iепле=ь отD8<4л4 
Iо=49<е=Hе од=е Iепле==O пDот8 к4HлNк4, д8DтеDVW, 
пD46FO =4 пеDHо<у DоFV 68ттO, то под4льHV Iепле==O 
пл4=уNтьEO 7 Dо7D4Eу=ку 458 д8т8=4 отD8<4л4 Gот8D8 
Iепле==O до 68ко=4==O 6Vку 6 DокV6 11 <VEOFV6 29 д=V6. 
• І=теD64л <V6 66еде==O< до7 64кF8= <4T Eкл4д4т8 <V6 пеDHоN 
т4 дDу7оN до74<8 Iо=49<е=Hе 28 д=V6, <V6 дDу7оN т4 тDетьоW 
до74<8 - Iо=49<е=Hе 28 д=V6, <V6 тDетьоW т4 Gет6еDтоN 
(Dе64кF8=4FVO) - Iо=49<е=Hе 6 <VEOFV6. 

• �4кF8=4FVO пDот8 к4HлNк4 64кF8=4<8, Iо =4д4=V 74 коHт 
деD646=о7о 5Nд6ету, пDо6од8тьEO до 68ко=4==O д8т8=V 6 
DокV6 11 <VEOFV6 29 д=V6.



В4кF8=4FVO пDот8 6VтDO=оW 6VEп8



З4 Oк8E о5Eт468= T доFVль=8< 68коD8Eт4==O 64кF8=8 пDот8 
6VтDO=оW 6VEп8 «Varivax» у дVте9 6Vко< 6Vд 9 <VEOFV6 до 12 <VEOFV6?

• �4E8E=89 еDект у =е<о6лOт Eт4DHе 6 <VEOFV6 Iодо 6VтDO=оW 6VEп8 GеDе7 
тD4=Eпл4Fе=т4D=о =45утV <4теD8=EькV 4=т8тVл4 T 64DV45ель=8<.

• �4O6=V д4=V клV=VG=8E т4 пVEлOлVFе=7V9=8E доEлVд6е=ь E6VдG4ть, Iо 64кF8=4 пDот8 
6VтDO=оW 6VEп8 T 5е7пеG=оN т4 V<у=о7е==оN пD8 66еде==V =е<о6лOт4< у 6VFV 9 
<VEOFV6.
• �Vдпо6Vд=о до G8==оW 6 'кD4W=V V=EтDукFVW 7 68коD8Eт4==O, 64кF8=4 <�4DV64кE= 

(Varivax®) пок474=4 длO 64кF8=4FVW 7 <етоN пDоDVл4кт8к8 6VтDO=оW 6VEп8 оEV5 6Vко< 
6Vд 12 <VEOFV6. �Dоте, 6 V=EтDукFVW т4ко6 6к474=о, Iо 64кF8=у <�4DV64кE= 
(Varivax®) <о6=4 74EтоEо6у64т8 дVтO< 6Vко< 6Vд 9 <VEOFV6 пD8 оEо5л868E 
о5Eт468=4E, =4пD8кл4д пD8 Eп4л4E4E 74E6оDN64==O. �6еде==O 64кF8=8 пDот8 
6VтDO=оW 6VEп8 пDотO7о< 3-5 д=V6 пVEлO ко=т4кту <о6е 5ут8 еDект86=8< у 
74по5V74==V под4льHо<у поH8Dе==N V=DекFVW.
• �6464T<о, Iо 64кF8=у пDот8 6VтDO=оW 6VEп8 <�4DV64кE= (Varivax®) <о6=4 
68коD8Eто6у64т8 длO поEтко=т4кт=оW пDоDVл4кт8к8 у =е<о6лOт 6Vко< 6Vд 9 
<VEOFV6 до 12 <VEOFV6. �лO доEO7=е==O опт8<4ль=о7о 74E8Eту =ео5EVд=о 
отD8<4т8 д6V до78 64кF8=8 7 <V=V<4ль=8< V=теD64ло< у 3 <VEOFV, пDо Iо 
747=4Gе=о 6 G8==V9 V=EтDукFVW до 68коD8Eт4==O 64кF8=8 <�4DV64кE= (Varivax®).



Ч8 доFVль=о у 68п4дку =е<о6л86оEтV 66еде==O 
дDу7оW до78 64кF8=8 пDот8 6VтDO=оW 6VEп8 Varivax
пDо6од8т8 Iепле==O од=VTN до7оN 64кF8=8?
• З4 Dе7ульт4т4<8 доEлVд6е=ь:
• !еDед =еV<у==8E дVте9 6Vко< 6Vд 12 <VEOFV6 до 12 DокV6 
EеDоко=6еDEVO GеDе7 4-6 т86=V6 пVEлO 66еде==O од=VTW 
до78 EпоEтеDV74л4EO у 97% 64кF8=о64=8E.
• �Dект86=VEть 64кF8=8 пDот8 6VтDO=оW 6VEп8 у дVте9 оFV=NTтьEO 6 
94,4% пVEлO 66еде==O од=VTW до78 т4 98,3% пVEлO 66еде==O 
дDу7оW до78.

• �&��І 66464T доFVль=8< у 68п4дку =е<о6л86оEтV 
66еде==O дDу7оW до78 64кF8=8 пDот8 6VтDO=оW 6VEп8 
пDо6од8т8 Iепле==O од=VTN до7оN 64кF8=8.



Ч8 доFVль=о у 68п4дку =е<о6л86оEтV 66еде==O 
дDу7оW до78 64кF8=8 пDот8 6VтDO=оW 6VEп8 Varivax
пDо6од8т8 Iепле==O од=VTN до7оN 64кF8=8?

• �&��І 66464T, Iо 6 у<о64E деDVF8ту 64кF8=8 пDот8 6VтDO=оW 6VEп8 <�4DV64кE= 
(Varivax®), 64кF8=4FVO од=VTN до7оN 5VльHоW кVлькоEтV V<у=око<пете=т=8E
оEV5 T кD4I8< пVдEодо< у поDV6=O==V 7 д6одо7=оN EEе<оN 64кF8=4FVW, Iо 
пеDед54G4T 64кF8=4FVN <е=HоW кVлькоEтV оEV5. �лO V<у=око<пDо<ето64=8E
оEV5 5е7 пDот8пок474=ь до 64кF8=4FVW пDот8 6VтDO=оW 6VEп8 длO доEO7=е==O 
опт8<4ль=о еDект86=о7о 74E8Eту =ео5EVд=о =4<474т8EO 68коD8Eто6у64т8 
д6одо7=у EEе<у 64кF8=4FVW 7 <о6л868< 7<е=Hе==O< V=теD64лу до 28 д=V6 
<V6 66еде==O< до7 64кF8=8.
• �&��І 747=4G4T, Iо од=у до7у 64кF8=8 <�4DV64кE= (Varivax®) <о6=4 66од8т8 
т8<, Eто 66е отD8<46 од=у до7у 64кF8=8 пDот8 6VтDO=оW 6VEп8 V=Hо7о 
68Dо5=8к4. І, =46п4к8, OкIо 64кF8=4 <�4DV64кE= (Varivax®) 5уло 66еде=о 
од=оD47о6о, куDE <о6=4 746еDH8т8 66еде==O< 64кF8=8 пDот8 6VтDO=оW 
6VEп8 6Vд V=Hо7о 68Dо5=8к4.



Ч8 <о6е 5ут8 66еде=4 дDу74 до74 64кF8=8 пDот8 
6VтDO=оW 6VEп8 <В4DV64кE= (Varivax®) D4=VHе V=теD64лу 
пVEлO 66еде==O пеDHоW до78 64кF8=8, 747=4Gе=о7о 6 
V=EтDукFVW 68Dо5=8к4?
• �Dу74 до74 64кF8=8 пDот8 6VтDO=оW 6VEп8 <Varivax= (Varivax®) <о6е 
5ут8 66еде=4 7 <V=V<4ль=8< V=теD64ло< Iо=49<е=Hе 1 <VEOFь 
пD8 74EтоEу64==V у дVте9 6Vко< 6Vд 12 <VEOFV6 до 12 DокV6.
�о6л86VEть 7<е=Hе==O V=теD64лу до 1 <VEOFO <V6 до74<8 
747=4Gе=о 6 G8==V9 V=EтDукFVW до 64кF8=8 <�4DV64кE= (Varivax®).

• �<е=Hе==O V=теD64лу <V6 до74<8 <о6=4 74EтоEу64т8 пD8 
64кF8=4FVW дVте9 6Vко< 6Vд 12 <VEOFV6 до 12 DокV6, кол8 =ео5EVд=о 
доEO7т8 <4кE8<4ль=о еDект86=о7о 74E8Eту 6Vд 6VтDO=оW 6VEп8 74 
коDотк89 пеDVод G4Eу.



Де GеDп4т8 V=DоD<4FVN пDо «Що =о6о7о?»










